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FAMAT Algebra 2 January Regional Team Test

A = the positive root of 15x* =7x+ 4
2x-7

B = the sum of the two roots of

(_ 3
Find the exact valu’e of 1I04-R

Find 22if 4=| ¢ AT g ()™
c s 2| b+2 bt3 <

For this problem 7= J-1 |
3+ 2i

4 i

A =the simplified form of
B =the simplified form of ./ /7. j*°
Find 4+ B inthe simplified form a + bi

-3

Given f(x):3x+9”. g(x) x +4x 5 h(x):x:+5
A=r(e) SR
B=h(f7(6))

Find 4

A=277

7+x‘:f‘- ’

B =the slope of f (x) where f(x)= |
C = the remainder _when 23_c f-4x —Tx~61 15 d1v1ded by X = 4

Find E—C
A

Fmd a so that x— 4 shall beafactor of 4x +2(a 5)x2+(a 4)x +4a o

| _,_,Fmd the value of x + y +z
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8.
0 1 2 _ ’
A = the value of L(——)i-f(—) whenf(x) - x____2_x_-:5_
=y 2x—1
~ ~B=the value of  for log, 5% +log, 4 =log, 27
““Find the value of \/% '-

lee the equation of the line, in Ax + By + C =0 form, which passes through the center

| - ofthe c1rcie x2-8x+y*+4y—-80=0 and is parallel to dx-y= 24,

A the radlus ofthe circle x* + y* - 6x +10y+9 O
B the number of mtegral solutions of x* < x + 12
C =the solutlon of 3Jx =x-10

Fmd (AB -C )
1 o
'Fmd the product of A-L-G-2 where log 64 2 logzL = '-—1 Iogl 3Iog5 G

o F md x+ y 1f 23”t ?=32and 0. 0625"’” 64
-;513;a.,ﬂ._,
B 1k

’"e-'dlstance:'ﬁ'om P to (9 -1) where P lies on the lme y=tx< ~5andhasa y-coordmate of 3.
1x-2y=8
_ X+ky=

are perpendlcular to each other.

;Sarah can clean the house in 2 hours whlle Edd1e can clean itin3 hours Let A=the number
-hOur will take them to clean the house 1f they work together .





